Equations with Logs
1. log(92x)  =  log(27 x+4)
    2x log(9) = (x+4) log(27)

    2x log(9) = x log(27) + 4 log(27)

     2x log(9)  - x log(27) = 4 log(27)

     .4771212547x = 4 log(27)

     x = 12
2.      (2/5)8x = (25/4)2
            8x  log(2/5)   =  2 log (25/4)

       x =  (2 log (25/4))  /   log(2/5)   /   8

       x =    -.5
	3.    log4 (3x + 4)5 = 15


	     3x + 4 = 43


	      4 log4(3x+4)5  = 415

	     3x + 4 = 64



	      (3x + 4)5 = 415

	     3x = 60

	      Take 5th root of both sides
	      x = 20




	4.   log(x2 -9) = log(5x + 5)

	x2 -5x -14 = 0

	      10 log(x2 -9) = 10 log(5x + 5)

	(x -7) (x+2)  =  0

	       x2 – 9  = 5x + 5
	x = 7 , -2


